Functional Grammar
Examination grammar test.
Variant I
 I. Open the brackets. Follow the rules of agreement.

1. A box as well as the trolley (to be stolen). 2. The company (to be forced) to leave their seats. 3. Five years (to be) not a long period. 4. It (to be) they who helped me. 5. A number of students (to have) computers. 6. Neither of the tasks (to be) interesting. 7. That pair of pants (to be) not new. 8. The number of European students at the university (to be) small. 9. The United States (to be) situated in North America. 10. Your mathematics (to be) excellent. 11. The police (to be) everywhere now. 12. Many a student (to attend) the Central library. 13. Draughts (to be) his favorite game. 14. His soul and body (to be in her hands). 15.That species (to be) rare. 16. There (to be) one or two photos on the table. 17. The service was over, and the congregation (to be) leaving the church. 18. The best fish (to swim) near the bottom. 19. A month’s wages (to be) in that pocket. 20. Good looks (to be) very important in model business. 21. And it (to be) I, your mortal enemy. 22. Everyone of the fellows (to be) present.
II. a. Translate using phrasal verbs .
1. My granny asked me (заглянуть) for a chat on Sunday. 2. (Посмотри) this word in the dictionary. 3. The Students’ theatre (ставит) a new modern play. 4. Steve’s aunt can (разместить) you for the night. 5. My friend usually (подменяет) my job when I am ill. 6.My dad is going (заняться) swimming. 7. Children usually (мирятся) very quickly.8. She (выдумала) this story for self-protection. 9. The committee (отвергла) her proposal. 10.Never (выдавать) your friends. 

    b. Use delexical verbs: have, give, make, take, go, do.
1.Yesterday we … a long discussion. 2. Children often … fights. 3. When I touched her arm she … a scream. 4. The film star will … an interview to the press. 5. He usually … noises while eating. 6. Sometimes it is difficult to … a choice. 7. Learning languages … a lot of time. 8. Nobody wants to … responsibility. 9. It’ll … you no harm. 10. My husband likes to … the cooking.
III. Rewrite and use inversion.

1. Jim was never late the whole time he was at school. 2. It hardly ever rains in Egypt. 3. Now the moment of departure came. 4. They drove along the road with high cypress trees.5. His speech was hard and impulsive. 6. It is rarely possible to talk to Tina. 7. Though she was bright, she couldn’t get good marks. 8. If he were a child he might cry. 9. My house is here. 10. Ann can not only speak French and German, but she knows Chinese. 11. The apples were falling down. 12. Jim was really happy only when he was very busy. 13. They had hardly got into the train when it started. 14. He treated her so cruelly that she started to cry. 15. His mother sat in an armchair. 16. It would be a failure, if she were to perform. 17. She remembered the man’s name only after he’d walked away. 18. They had little information about this concert. 19. There’s no way I can come to the meeting on Friday. 20. They could keep the children quiet by giving them sweets. 21. She’s a talented dancer and a good singer as well. 22. Don’t show these figures to anyone on any account. 23. If I had realized how unhappy she was, I wouldn’t have been so abrupt. 
IV. Use suitable connectors: whereas, although, on the other hand, as well as, while, in contrast to, yet, apart from, although, however, furthermore, for example, such as, as a consequence, because of.

1. Certain diseases are carried by insects, … malaria. 2. Scientists argue that the world’s climate is changing … the greenhouse effect. 3. The Lakes, … Windermere and Grasmere are a favourite choice for holiday-makers. 4. Football is Britain’s national sport, …, over half a million people attend matches on Sundays. 5. … Andrew was warned of the risks, he decided to travel. 6. The city has a 50 kph limit, …, people are often caught speeding. 7. Anna doesn’t have a sense of humour, … she’s very popular. 8. Some people enjoy city life, … others prefer the countryside. 9. … many other teachers, I think the party should be organized. 10. The lecture was very boring, … , it was very short. 11. Israel exports diamonds and flowers, … fruit. 12. … our car broke down, we were able to fix it ourselves. 13. … Shelly, everyone has helped to paint the school. 14. The driver drove through a red light, …, he was arrested by the police. 15. Susan loves playing tennis, … Helen finds it very boring.
.
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Examination grammar test.

Variant II

I. Open the brackets. Follow the rules of agreement.

1. The press (to be) requested to leave the conference room. 2. Every man, woman and child (to be) given a free ticket. 3. The apparatus (to be) available for you.4. The loving couple (to be) spending their honey moon in Turkey. 5. It (to be) my friends who congratulated me. 6. John together with his sons (to agree) to help me. 7. None of his utterances (to be) easy to interpret. 8. The Canterbury Tales (to be) unfinished.9. The number of mistakes in the test (to be) great. 10. Three weeks (to make) twenty-one days. 11. Not only the flowers but even the grass (to be withered).12. The company (to be entering) the hall by different doors. 13. Acoustics (to be) excellent in this hall. 14. Deer (to live) in Belarus forests. 15. Either your friends or the teacher (to have) this book. 16. The Netherlands (to be) situated on the way to Britain. 17. The average American family (to consist) of 2.3 children. 18. More than one person (to be) going to lose his job. 19. (to be not) Portuguese spoken in Brazil? 20. His exact whereabouts (to be) unknown 21. The college (to have spent) over $500,000 on a new sports centre. 22. The economics of the plan (to be worrying) investors.
II. a. Translate using phrasal verbs . 
1. We are (заняться) this case. 2. (Осторожно), the tree is falling. 3. The plan they (выдвинули) leaves much to be desired. 4. Sometimes it is very difficult to (загасить) the fire. 5. I (приняла) her for the teacher, but she was a student. 6. She had to (ушить) her new dress. 7.She said good-buy and (отправилась) the door. 8. Can you (различить) these shades of green?. 9. You are to (прекратить) telling lies. 10. We touched the bell and it (издал) a sound.
     b. Use delexical verbs: have, give, make, take, go, do.
1. 1. I am thirsty, let’s … a drink. 2. The child is dirty, he must … a wash. 3. You are to … your duty. 4. It’s very dangerous; … care of yourself. 5. Never … comment if you are not asked to. 6. The wounded man … a groan. 7. We decided to … a trip to Madrid. 8. All of a sudden he … me a kick and I fell. 9. Nowadays the computer … us all necessary information. 10. Vegetables will … you good. 
III. Rewrite and use inversion.
1. Jill contributed little to the success of the company. 2. Bill was seldom heard to swear. 3. Diana is not only the prettiest girl I have ever seen, but she is also one of the cleverest. 4. I had hardly come to work when my boss wanted to see me. 5. Though the water was warm, we did not dare to bathe.6. He fought violently and bravely. 7. If I could pay his debts, I would do it. 8. You can rarely see eagles here. 9. My relations are here. 10. He pronounced no word. 11. I will never be shocked again by anything he says. 12. The general was large and motionless. 13. He watched her walking in the garden many a time. 14. The doves flew up. 15. If you should need more information, phone the office. 16. A book of crosswords was inside the box. 17. I haven’t seen better service anywhere. 18. You must not open this door under any circumstances. 19. He’d never seen such a professional performance before. 20. As soon as he had eaten, he jumped up and began to dance. 21. She wasn’t pretty; she didn’t have a nice personality either. 22. You will finish this work if you start now. 23. The papers blew away. 
IV. Use suitable connectors: despite, on the contrary, even though, whereas, in spite of, so that, in contrast to, in addition to, besides, such as, as, owing to, such as, because of, in order to.
1. I typed all the letters … she was busy. 2. Paul went to summer school in London … improve his English. 3. … the heavy traffic in cities, they are improving the rail system. 4. Some languages, … French and Italian, are based on Latin. 5. It’s quicker to travel by train than by car. …, it’s cheaper. 6. … an increase in the number of cars, there has been an increase in road accidents. 7. Zambia is a land-locked country, … Kenya has a coast line. 8. He seems to be a dull person. - …, he has a sense of humour.9. … his car accident, Mark is not afraid of driving. 10. … she had planned her trip carefully, Nadia had some problems when she got there. 11. … other museums, here they allow children to tough the exhibits. 12. … her old age, she has an active social life. 13. Many countries, … Zambia and Colombia, have economies based on one main product. 14. She went to university … she could study medicine and become a doctor. 15. … the recent elections, a new mayor was chosen by the townspeople. 
Functional Grammar
Examination grammar test.

Variant III
I.  Open the brackets. Follow the rules of agreement.
1. Neither the students nor the teacher (to be) allowed to smoke here. 2. The Commons (to be) one of the Houses of the British Parliament. 3. A number of pupils (to be) missing at the concert. 4. Measles (to be) not a serious illness. 5. The ironworks (to be) outside the city. 6. The jury (to be) in their seats. 7. Many a letter (to be) written to her. 8. Six pounds a week (to be) not enough for him. 9. I as well as they (to be) highly satisfied. 10. The black and white dress (to be) washed yesterday. 11. The number of tickets (to be) limited. 12. Not only the money but also the jewels (to be) locked in the safe. 13. The criteria for promotion (to be) clearly stated. 14. Three quarters of the area (to be) cultivated. 15. Wallpaper in addition to new curtains (to have) been ordered. 16. My aim and object (to be) to make English grammar clear to you. 17. Recent government statistics (to show) a sharp decline in crime. 18. His family (to have lived) in this house for 100 years. 19. Either the Prime Minister or his deputy (to be opening) the debate. 20. All the office staff (to have agreed) to work tonight. 21. None of the information (to be) useful to me. 22. The crowd (to be) growing restless as the day got hotter.
II. a. Translate using phrasal verbs.  
1. She likes (напустить) an air of importance. 2. The child (набрал) too much weight. 3. The dentist (удалил) two of her teeth. 4. While waiting Tom (просматривал) new magazines. 5. Could you (включить) TV? 6. She (выдумала) that she is a film star. 7. The students should (уважать) their teachers. 8. The ministry of education (займутся) the results of the examinations. 9. I am afraid of dogs. I (приписываю) my bad experience in childhood. 10. They (считают)her as one of their friends. 
    b. Use delexical verbs: have, give, make, take, go, do.

1. Sorry, but I … troubles with my throat. 2. While studying chemistry pupils have to … a lot of experiments. 3. After those rude words Tom … an offence. 4. Never … promises if you cannot fulfill them. 5. Thomas … a taste for the beautiful. 6. The President … a speech before students yesterday. 7. The chairman finished his speech but nobody … a remark. 8. Let’s … a break. 9. The instructor … a warning that climbing may be dangerous. 10. I … him a punch to stop his boasting.
III. Rewrite and use inversion. 
1. The elm tree stood on the hill surrounded by the grove. 2. The time to go was now. 3. I have never been so moved by a book before. 4. We are allowed to smoke in the auditorium under no circumstances. 5. If I had had more friends then, I would have coped with the problems. 6. These days Bill is rarely at home. 7. Her garden is so nice and glorious. 8. The children sang enthusiastically and loud. 9. He had no sooner answered her question than he understood that he was caught. 10 You can enter Poland only getting a visa. 11. Dina seldom works on the computer. 12. Brian will never do any work unless he is made to. 13. Though the dress was fashionable she decided not to buy it. 14. The police rushed upstairs. 15. It would be a serious setback, if the talks were to fail. 16. The teacher blew a whistle and the children ran off. 17. They didn’t see the sign until it was too late. 18. It was only after he’d left the house that he realized he’d forgotten his key. 19. If I were you, I’d just ignore her cruel remarks. 20. They didn’t arrive on time; they didn’t apologize either. 21. He laughed so much that tears rolled down his cheeks. 22. I lost my handbag and my keys too. 23. Uncle John doesn’t visit us often. 
IV. Use suitable connectors: despite, on account of, although, whereas, on the other hand, consequently, whereas, on the contrary, so as to, for instance, although, furthermore, except for, apart from, so that.

1. Ellen traveled to London by train … she could enjoy the scenery on the way. 2. Newspapers offer the reader a variety of articles, … news, sport, financial column. 3. Oxford is one of England’s medieval cities, …, it is a centre of learning. 4. All enjoyed the mount climb … Brian, who had injured his leg. 5. What other languages do you know … English? 6. Peter enjoys opera, … I can’t stand it. 7. You must have a very interesting job. -…., it is quite routine. 8. It’s good that the flat is close to the shop, …, there is no parking nearby.9. … her qualifications, Mary didn’t get a promotion. 10. We couldn’t find a house to buy … we tried hard. 11. Dairy products are often advertised on TV in Britain, … cigarette commercials are illegal. 12. Sir Alexander Fleming discovered penicillin. …, many infections can be treated efficiently. 13. She can’t take part in the school’s drama production … a part time job in the afternoon. 14. He visited the doctor before he took up aerobics … be sure he was physically fit. 15. … hundreds of homes were destroyed by the hurricane, few people were actually killed.


